
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3095.9 × 0.1 = ________ 4030.4 × 0.01 = ________

3640.6 × 0.1 = ________ 8941.6 × 0.001 = ________

4566.7 × 0.001 = ________ 9497 × 0.01 = ________

2844 × 0.001 = ________ 7399.9 × 0.0001 = ________

9062.3 × 0.0001 = ________ 9605.5 × 0.01 = ________

3410.6 × 0.01 = ________ 4315.9 × 0.01 = ________

6933.2 × 0.01 = ________ 6788.5 × 0.0001 = ________

5532.9 × 0.0001 = ________ 8615.7 × 0.001 = ________

4617.4 × 0.001 = ________ 4976.6 × 0.0001 = ________

4128.5 × 0.1 = ________ 6911.3 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3095.9 × 0.1 = 309.59 4030.4 × 0.01 = 40.304

3640.6 × 0.1 = 364.06 8941.6 × 0.001 = 8.9416

4566.7 × 0.001 = 4.5667 9497 × 0.01 = 94.97

2844 × 0.001 = 2.844 7399.9 × 0.0001 = 0.73999

9062.3 × 0.0001 = 0.90623 9605.5 × 0.01 = 96.055

3410.6 × 0.01 = 34.106 4315.9 × 0.01 = 43.159

6933.2 × 0.01 = 69.332 6788.5 × 0.0001 = 0.67885

5532.9 × 0.0001 = 0.55329 8615.7 × 0.001 = 8.6157

4617.4 × 0.001 = 4.6174 4976.6 × 0.0001 = 0.49766

4128.5 × 0.1 = 412.85 6911.3 × 0.1 = 691.13
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